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Bay Region Industry Clusters of Opportunity

Biotech Mfg & Srvcs,
0.9%, 1.75, 78,906

Support Srvcs for Businesses,
-1.1%, 103,388,271

N\

Constr & Related,
-7.0%, 1.00, 148,828

D

Financial Activities,
-3.7%, 1.03,162,338

/

Retail Trade,

Food & Bev (Excl Eat & Drink),
-1.8%, 0.90, 288,448

0.0%, 0.81, 91,405

-8.0% -6.0% -4.0% -2.0% 0.0% 2.0%

Compound Annual Growth Rate 2007/2008 - 2011/2012

Compound Annual Growth Rate (X-axis): The smoothed annualized gain of an industry group.

Employment Concentration (Y-axis): Ratio of an area's

by industry group to the base.

Arts, Entertainment, & Tourism,

Info, Commun., & Tech,
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0.7%, 0.94, 349,080

Health Srvcs & Related,
1.9%, 0.92, 265,178

Niche Mfg,
2.8%,0.61,10,020

4.0% 6.0%

Bubble Size Employment size.

Data Sources: Bureau of Labor Statistics; EDD Labor Market Information Division
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